
www.conteg.com
All rights reserved, CONTEG © 2013

1

CONTEG, spol. s r.o.
Czech Republic Headquarters:
Na Vítězné pláni 1719/4
140 00  Prague 4
Tel.: +420 261 219 182 
Fax: +420 261 219 192

Production plant in the Czech Republic:
K Silu 2179
393 01 Pelhřimov
Tel.: +420 565 300 300
Fax: +420 565 533 955

Local Branches/Offices
Austria: 				   +43 170 659 0115
Benelux: 			   +32 477 957 126
Eastern Europe / Nordics:	  	 +49 172 8484 346
France, Maghreb: 		  +33 686 074 386
Germany / Switzerland /
Baltics / Denmark / Italy: 		  +49 170 523 4958
India:				    +91 99 1695 0773 
Middle East: 			   +971 4445 2838
Russia, CIS: 			   +7 495 967 3840

conteg@conteg.com
www.conteg.com

CONTEG DATASHEET

version: 27-05-2013

MOUNTING & CONNECTING KITS

ACCESSORIES



www.conteg.com
All rights reserved, CONTEG © 2013

2

MOUNTING & CONNECTING KITS

Serve to connect (bay) free‑standing racks of  the same 
height and depth into one row. The DP-DR-UNI connecting kit 
is used to connect of the ROF racks series.
•	 DP-DR-UNI-Q: QUICK connecting kit is used to connect all free-

standing rack series, excl. iSEVEN series, one-man installation ready, 
tool-less version

•	 DP-DR-UNI: used to connect of all free‑standing rack series, excl. iSEVEN 
series, side panels do not need to be removed

•	 DP-DR-7: used to connect of iSEVEN rack series, side panels must be 
removed

Serves to attach equipment to vertical extrusions
MOUNTING KIT

CONNECTING KITS

Code Description Size Set includes

DP‑MO‑011 Mounting kit M5 1× screw, 1× floating nut, 1× washer

DP‑MO‑F21, 2 Mounting kit – fast installation M6 1× screw, 1× nut

DP‑MO‑100 Mounting kit – multipack M5 100× mounting kit (1× screw, 1× floating nut, 
1× washer)

DP‑DR‑UNI

DP‑DR‑7

1 Please order in multiples of four only (one packaging = 4 above presented sets)
2 Compatible with cut‑out 9.5×9.5 mm

DP‑MO‑F2

DP‑MO‑01

DP‑DR‑UNI-Q

Code Description Set includes

DP‑DR‑UNI-Q QUICK connecting kit for all free-standing rack series, excluding RI7 and RM7, tool-less 3 brackets of QC, 3 wings screws M5×16, 6 screws M5×16, 3 nuts M5

DP‑DR‑UNI Connecting kit for all free-standing rack series, excluding RI7 and RM7 6 wings nuts M5, 6 screws M5×20, 12 washers

DP‑DR‑7 Connecting kit for RI7 and RM7 rack series 6 hexagonal nuts, 12 screws M5×10, 12 washers M5 DIN125


